
 

        4-6 Isa Way Boronia Vic 3155. P.O Box 183 The Basin 3154. Phone: +61 3 9720 5533  Fax: +61 3 9720 1300 
Email: sales@autosafe.com.au  Web: www.autosafe.com.au  ABN: 74 062 093 056 

 

                 

FITTING INSRUCTIONS 

 

MAKE: Toyota  

MODEL: 90 Series Prado  

TYPE: Wagon 

YEARS OF MANUFACTURE: 07/1996-01/2003 

PART NUMBER: CBTP 

POSITION: Behind 2nd Row of Seats 

 

KIT: 2-167mm Grab Handle Brackets   

         2-300mm Offset Brackets             

         2-150mm Offset Brackets 

         4-M10x20mm Set Screw 

         2-M10 Nuts on Wire 

         8-M10 Wizz Nuts 

         4-M6x30mm Set Screws 

         4-M6x20mm Washers 

         2-M10x40mm Set Screws 

 

PLACE THE CARGO BARRIER IN THE VEHICLE WITH THE MESH TO THE REAR OF THE 

VEHICLE. 

 

ALLWAYS CHECK FOR FUEL LINES ETC BEFORE DRILLING AND ALWAYS USE A 

DRILL STOP. 

 

TOP: Remove the second row of grab handles, replace with the grab handle bracket supplied, secure 

using M6x30mm set screws and M6x20mm washers. Secure one end of the 300mm offset bracket to the 

M10 thread protruding out of the grab handle bracket using an M10 whiz nut. Secure the other end of the 

300mm offset bracket to the top tag on the Cargo Barrier using an M10x20mm set screw and an M10 

whiz nut. 

 

BASE: Attach the 150mm offset bracket to the cargo barrier using an M10x20mm set screw and a M10 

whiz nut. Project the 150mm offset bracket straight back and drill out to accept a M10x40mm bolt. Feed 

nut on wire through adjacent holes in the floor pan(Need to remove rubber grommets), bend the wire to 

line up with the hole and put the M10x40mm set screw through the 150mm offset bracket and the hole 

and secure into the M10 nut on wire. 

 

CHECK OVER FIXINGS SYSTEMATICALY TO MAKE SURE THEY ARE ALL TIGHT. 

 

OTHER: Barrie also fits in sunroof model. 

mailto:sales@autosafe.com.au
http://www.autosafe.com.au/

